Find the exact length of each leg
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Find the exact value of each:
cos30°= E _fz sin30°= 1/1 4
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Coordinates on the Unit Circle:
(X,V¥) » (C0s0,sin0)

Actually, Cos@ is defined as ot
r

but since r=1: Coso = x

What are the coordinates of the blue point?
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Finding SinB, CosB, and Tan6 using the Unit Circle

Cosb = x (x-coordinate)

SinB = y (y-coordinate)

22 Tanf = OPpiLeg, _
Adj Leg
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Use the Unit Circle to
find the EXACT value
Gl of each.
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(% Use the Unit Circle to
2 find the EXACT value
Gl of each.
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Use the Unit Circle to

find the EXACT value
€54 of each.
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Use the Unit Circle to
find the EXACT value
€54 Bl of each.
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Use the given infomation to find the measure

of all the anlges 6 that meet each condition.
0 in degrees (0° < 0 < 360°)

_ 7 “ ®
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3. cosf = 1(0,7° 4. sing = — 240
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9. Given Cosf > 0 and Sinf = —% find 6
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Use the given infomation to find the measure
of all the anlges 6 that meet each condition.
0 in degrees (0° <60 < 360°)
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